CAPITAL GAINS TAX
LECTURE 8 – CALCULATING CGT LIABILITY
SLIDE 1
Hello, my name is Sarah Brooks. This online lecture is produced by Leicester De Montfort Law School.  It relates to the subject area of Taxation and is Lecture No.8 in the series.  It is the second online lecture relating to Capital Gains Tax.
SLIDE 2 –  OUTCOMES
In this online lecture I am going to be talking about how capital gains tax is calculated, how you calculate the gain that is made on a chargeable person that makes a chargeable disposal of a chargeable asset, what the annual exemption is for capital gains tax purposes and the different rates of capital gains tax.
SLIDE 3 – THE CGT CALCULATION
There are six key steps to calculating an individual’s capital gains tax liability.  Firstly, you determine if there is a charge to capital gains tax which hopefully you will recall from listening to the previous online lecture is where a chargeable person makes a chargeable disposal of a chargeable asset that results in a chargeable gain.  Secondly, you calculate the gain made on that chargeable disposal.  Thirdly, you should consider whether there are any reliefs available, and I will talk about these in detail in the next online lecture.  Fourthly, you should consider whether you could utilise any losses made on other chargeable disposals in order to reduce your gain.  Fifthly, you deduct the annual exemption and then finally you apply the appropriate rate of tax to calculate the individual’s final capital gains liability.
It is very important then that when you are looking at capital gains tax and advising on whether there is a capital gains liability that you follow these six steps in this order.  

SLIDE 4 – HOW TO CALCULATE THE GAIN
The first step in calculating an individual’s capital gains tax liability is to determine whether there is a charge to capital gains tax.  In other words, is there a chargeable person making a chargeable disposal of a chargeable asset.  The second step then is to calculate the gain that has been made on that chargeable disposal of a chargeable asset and you work that out as follows; firstly, you identify the consideration for the disposal, in other words how much is that chargeable asset being sold for.  If it is not being sold, say perhaps it is being given away, which you will recall is still a chargeable disposal, the figure you would put in here is the current market value for that chargeable asset.  From that figure then you will deduct any initial expenditure.  This means the cost that the individual spent on acquiring that asset in the first place together perhaps with any legal costs that were incurred in purchasing that asset.  Next, you will deduct any subsequent expenditure and by this, I mean any expenditure that has been spent on that asset in order to increase its value.  For example, say your chargeable asset is a holiday home and you have spent money on putting an extension onto that property.  The cost of that extension will be an example of subsequent expenditure.  Finally, you can deduct the incidental costs of disposal and by this I mean the costs that are incurred in actually disposing of that asset such as your legal costs.  Once you have deducted all of those three things from the initial figure this then gives you the individual’s capital gain.  
SLIDE 5 – CALCULATING THE GAIN – EXAMPLE
Now it is time for you to have a go at calculating an individual’s capital gain.  A sells his holiday home in the year mentioned on the slide for £160,000.  A bought the house in 2014 for £90,000 and has since spent a further £5,000 on a kitchen extension.  A’s legal costs on the purchase of the home were £1,500 and the costs of disposal were £1,000.

Calculate A’s gain.  I would suggest that you now pause the lecture to calculate the gain and start again when you have done so. 
SLIDE 6 – CALCULATING THE GAIN – EXAMPLE ANSWER
Hopefully you have calculated A’s chargeable gain to be £62,500.  This is because his consideration for disposal is £160,000, which is the amount he sold his property for and then we can deduct from that his incidental expenditure. In other words the £90,000 he spent on purchasing the property in the first place together with the £1,500 of legal costs that were incurred on the purchase.  We can also deduct the subsequent expenditure, which is the £5,000 spent on the kitchen extension and also the incidental cost of disposal and that is the £1,000 which were the costs of disposing of his holiday home.  Once we have deducted all of those figures from the £160,000 that gives a total chargeable gain of £62,500.
SLIDE 7 – INDEXATION
It is important to know when you are calculating an individual’s capital gain that sometimes chargeable assets have increased in value simply as a result of inflation.  To allow for this HMRC  introduced something that was known as Indexation and what Indexation does is that it applies a formula when calculating an individual’s capital gain that takes account of any gains that are purely as result of inflation and therefore reduces that gain down.  It is important to note then that indexation only applies to assets that were owned between the 31st March 1982 and the 5th April 1998.  Indexation doesn’t apply now and was in fact replaced by Taper Relief in April 1998 and that was then replaced by Entrepreneurs Relief, now known as Business Asset Disposal Relief.  It is still important to be aware of Indexation though in case you are ever calculating an individual’s capital gain and they owned an asset between March 1982 and April 1998.
SLIDE 8 – RELIEFS
We have now considered the first two steps in calculating an individual’s capital gains tax liability.  We have determined if there is a charge to tax and also calculated the gain.  The third step in the calculation is to consider if any reliefs that may be available to the individual in order to reduce or eliminate their capital gains tax liability.  I am not going to say any more about these reliefs now as I will be talking about them in detail in the next online lecture.

SLIDE 9 – ANNUAL EXEMPTION
The next step in the calculation is to deduct the individual’s annual exemption which for this tax year you can see on the screen.  Please note though that this annual exemption usually changes on a yearly basis and each year’s annual exemption is announced by the Government in its annual budget.

SLIDE 10 – RATE OF TAX
Once you have calculated the individual’s capital gain, considered any reliefs, utilised any losses and deducted the individual’s annual exemption, the final step in calculating the individual’s capital gains liability is to apply the appropriate rate of capital gains tax to the gain.

There are two rates of capital gains tax, 10% and 20%, and the rate that you apply purely depends upon whether the individual concerned is a basic rate or a higher rate taxpayer.

If they are a basic rate income taxpayer, in other words their income falls within the basic rate band up to £37,700, any chargeable gains are taxed at 10%.  However, if the individual concerned is a higher rate taxpayer, in other words their income falls into the higher bracket of over £37,700 then any capital gains tax that those individuals make is taxed at the higher rate of 20%.

If an individual is able to take advantage of business asset disposal relief, any gains which that relief applies to is taxed at 10%. I will talk more about that in lecture 9. 

SLIDE 11 – WHEN IS CGT PAYABLE
Finally, once you know what an individual’s capital gains tax liability is, when do they actually have to pay it?  Well capital gains tax is due on the 31st January following the end of the year in which they made their capital gains.  This is when capital gains tax has to be paid although as you would expect there is an option to pay by instalments.

It is important to note that capital gains tax in respect of residential property must be paid within 60 days from the date of sale, if that sale took place on or after 27 October 2021.  (In cases of sales made between 6 April 2020 and 26 October 2021, payment was due instead within 30 days of the date of sale).
